


Graph #1
What type of function is it?
Domain:

Range:

Increasing Interval(s):

Decreasing Interval(s):
Maximum:

X Intercept(s):

Y Intercept(s):

Graph #2
What type of function is it?

What is the shape of the graph called?

Domain:

Range:

Increasing Interval(s):

Decreasing Interval(s):

Minimum:

X Intercept(s):

Y Intercept(s):

Graph #3
What type of function is it?
Domain:

Range:

Increasing Interval(s):

Decreasing Interval(s):

Minimum:

X Intercept(s):

Y Intercept(s):

Graph #4
Domain:

Range:

Increasing Interval(s):

Decreasing Interval(s):

Minimum:

Maximum:

X Intercept(s):

Y Intercept(s):




Graph #5
Domain:

Range:

Increasing Interval(s):

Decreasing Interval(s):

Minimum:

X Intercept(s):

Y Intercept(s):

Graph #6
Domain:

Range:

Why do you not use an inequality for the domain

or range of this graph?

Graph #7
Domain:

Range:

Increasing Interval(s):

X Intercept(s):

Y Intercept(s):

Decreasing Interval(s):

Graph #8
Domain:

Range:

Increasing Interval(s):

Decreasing Interval(s):

" Constant Interval(s):

Minimum:

Maximum:

X Intercept(s):

Y Intercept(s):
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Graph #1

What type of function is it?
AbSo\u\-e Ve

Domain: Al red Numbers,
~ad L X €00

Range: ¢

930
Increasing Interval(s): X< o
Decreasing Interval(s): X =7 - O
Maximum: 30
X Intercept(s): -4Ho end 20

Y Intercept(s): 20

Graph #2

What type of function is it? @uadrcm' 3

What is the shape of the graph called?
(\)o\rc(‘so\a-

Domain: all rea\ ANery  —of< X €20

gi-4

Range:

Increasing Interval(s):

x 7 -4
Decreasing Interval(s): X ¢ -4

Minimum:  — l—‘

X Intercept(s): —(, cnd -2

Y Intercept(s): |7

Graph #3 Graph #4
What type of function is it? Square cook | Domain: ' _ ’3 Zigie \
Domain: r 3 Range:

X €2

Range:

Y

Increasing Interval(s):

I\}one
3
X < S

Decreasing Interval(s):
Minimum: 1

X Intercept(s):

Noane
2.1

Y Intercept(s):

“Heyen
Increasing Interval(s): —24x €0

Decreasing Interval(s): ,34 ¥ < ~2
0 ex ¢ A

Minimum: _ Yy

Maximum: O

Xintercept(s): (O

Y Intercept(s):




Graph #5

o\l ceal AamesS
—Ad L X & DO

Domain:

Range:
g % 2 ‘__(0
,543(4 -2

Increasing Interval(s): X 7 2

Decreasing Interval(s): X& — S

_.24.,(L”Z

Minimum:  _ (P

X Intercept(s): _V7 sk &4

Y Intercept(s): L‘

Graph #6
Domain: i -5,0,5, \S, Zg:g)

Range: ? -5, 1o, )SZ

Why do you not use an inequality for the domain
or range of this graph?

T+ is e c\\‘scf*cj"P‘“’

The fPom—ts a'e nor
C,,\,\Cckeol ,‘f'\‘left’&-\—e

_\,\hg do men end (msz
sﬁﬂau\ol be c lisy of
Va.\u&)

Graph #7

Domain: O\ (el AumberS
—p ¢ X €00

Range: W\ res\ numderg
-0 & \ﬁ < Do

Increasing Interval(s): /\’oqe

Decreasing Interval(s): G|\ rec\ numbers
- Do £ x (m

X Intercept(s): =~ —},2

Y Intercept(s): -7

Graph #8
Domain: —| £x2 Y]
Range: —| & 9 < 4

Increasing Interval(s): 2 ¢ X & 4
S o SRS

Decreasing Interval(s): —| 4 X <\
Yex<T

Constant Interval(s): lx <3

Minimum:  — |

Maximum: L‘f

X Intercept(s): (p

Y Intercept(s): 2 , 6




